
.5625
TYP.

.093

2-11 TERMINALS
 .079

12-22 TERMINALS

4 =  WIRE CLAMP SEMS
ZINC PLD COMBO HEAD
(058402700) 8-32 STL
(058401700) 10-32 STL

.21

.562 .562

1.311 .500

 "A" OVERALL DIMENSION W/MTG ENDS 

 "B" MOUNTING DIMENSION 

"C" OVERALL DIMENSION
BARRIERS BOTH SIDES

SCALE 1:1

4X .208
MOUNTING HOLES

.438
.810

.420

SURFACE MOUNT DOUBLE ROW

1 = WITHOUT MTG ENDS (0774XX009)

2 = W/MTG ENDS (0774XX000)

NOTE: WHEN ORDERING A BLOCK WITH 
MOUNTING ENDS, ADD TWO EXTRA POLES TO THE 
MOLDING.

EX: A 3-POLE BLOCK WITH MOUNTING ENDS WILL 
USE A 5-POLE MOLDING.

4

NOTE: ADD DRIVE SCREWS ON SHEET 2

6 =  QUICK CONNECT TABS SUPPLIED
W/BINDER HEAD, ZN PLD
(052844700) 8-32 STL
(052846700) 10-32 STL
see special options

0 = STANDARD BINDER HEAD 
ZN PLD COMBO HEAD
(052844700) 8-32 STL
(052846700) 10-32 STL

0 = NO ADDITIONAL OPTIONS

1 = STANDARD BINDER HEAD 
NI PLD COMBO HEAD, STEEL
(052844120) 8-32 STL
(052846120) 10-32 STL

7 =  WIRE CLAMP SEMS
NI PLD COMBO HEAD
(058402120) 8-32 STL
(058401120) 10-32 STL J

1 = DOUBLE TAB, FLAT
       TB91(Sn) (080411200) 

TB91(Ni) (080411120) J

2 = DOUBLE TAB, 45° BEND
      TB92(Sn) (080412200)
      TB92(Ni) (080412120) J

3 = DOUBLE TAB, 90° BEND
DOUBLE HOLE

      TB93(Sn) (080413200)
      TB93(Ni) (080413120)

J

7 = SINGLE TAB, FLAT
      TB97(Sn) (080417200)
      TB97(Ni) (080417120)

8 = SINGLE TAB, 45° BEND
      TB98(Sn) (080418200)
      TB98(Ni) (080418120) J

9 = SINGLE TAB, 90° BEND
      TB99(Sn) (080419200)
      TB99(Ni) (080419120)

A THRU Z TO BE ASSIGNED BY
    ENGINEERING FOR SPECIAL
    CONFIGURATIONS 
    (A DRAWING IS NEEDED)

(OPTIONAL JUMPERS AVAILABLE
P/N 068103200 OR 068104100)

see note 3

J

J

B

D

2 = STANDARD BINDER HEAD 
NI PLD COMBO HEAD, BRASS
(052843120) 8-32 BRS
(052845120) 10-32 BRS

3 = STAINLESS STEEL SCREW COMBO HEAD
      (058601000) 10-32 STL

8 = WIRE CLAMP SEMS
     NI PLD COMBO HEAD
(058409120) 8-32 BRASS
(058410120) 10-32 BRASS

C D

5 = SCREWS SHIPPED BULK
      (SCREWS MUST BE ENTERED AS SEPARATE
       LINE ITEM ON SALES ORDER.)

D

B

H

H

H

H

H

H

J

J

J

J

JJ

J

J

J

4 = DOUBLE TAB, 90° BEND
SINGLE HOLE

      TB22(Sn) (080922200)
      TB22(Ni) (080922120)

K

TABLE A

NO. OF
POLES

A (MAX.-MIN.)
OVERALL DIM.
W/MTG ENDS

B (MAX.-MIN.)
MTG DIM.

C (MAX.-MIN.)
OVERALL DIM.
W/O MTG ENDS

1 1.551-1.539 1.131-1.119 .711-.699
2 2.116-2.100 1.694-1.682 1.276-1.260
3 2.680-2.660 2.258-2.242 1.840-1.820
4 3.245-3.221 2.823-2.803 2.403-2.383
5 3.809-3.781 3.387-3.363 2.967-2.943
6 4.374-4.342 3.952-3.924 3.532-3.504
7 4.938-4.902 4.516-4.484 4.096-4.064
8 5.503-5.463 5.081-5.045 4.661-4.625
9 6.067-6.023 5.645-5.605 5.225-5.185
10 6.632-6.584 6.210-6.166 5.790-5.746
11 7.196-7.144 6.774-6.726 6.354-6.306
12 7.761-7.705 7.339-7.287 6.919-6.867
13 8.325-8.265 7.903-7.847 7.483-7.427
14 8.888-8.828 8.468-8.408 8.048-7.988
15 9.452-9.388 9.030-8.970 8.610-8.550
16 10.017-9.949 9.595-9.531 9.175-9.111
17 10.581-10.509 10.159-10.091 9.739-9.671
18 11.146-11.070 10.724-10.652 10.304-10.232
19 11.710-11.630 11.288-11.212 10.868-10.792
20 12.273-12.193 11.853-11.773 11.433-11.353
21 12.837-12.753 12.415-12.335 11.995-11.915
22 13.402-13.314 12.978-12.898 12.559-12.475

TABLE C
TORQUE (IN-

LBS) *CURRENT 
(AMPS)

WIRE RANGE

16 35 No. 16-10 SOLID W/#8 BD HD SCREW

** 50 No. 8 SOLID/STRANDED W/RING LUG, #8 or #10 BD HD SCREW
20 40 No. 20-10 SOLID W/#10 BD HD SCREW
16 30 No. 22-10 SOLID/STRANDED W/#8 SEMS SCREW
30 35 No. 14-10 SOLID/STRANDED W/#10 SEMS SCREW

20 15 No. 22-16 SOLID/STRANDED W/#10 SEMS SCREW

** #8 SCREW = 16 IN-LBS; #10 SCREW = 20 IN-LBS
* FOR FACTORY WIRING ONLY.  AMPACITY RATING FOR FIELD WIRING SHALL CONFORM WITH NEC.

TERMINAL CONSTRUCTION
PART 

NO.
DIGIT

TERMINAL 
PLATE TYPE SCREW TYPE APPROVAL * FIELD/

FACTORY

0 = STEEL STEEL UR/cUR 2
1 = STEEL BRASS UR 1
2 = BRASS STEEL UR 2
3 = BRASS BRASS UR 1
5 = BRASS S.S. N/A N/A
6 = STEEL S.S. N/A N/A

* 1 = FACTORY WIRING ONLY; 2 = FACTORY & FIELD WIRING

.5625
TYP.

.093

2-11 TERMINALS
 .079

12-22 TERMINALS
TERMINAL BLOCK, 9/16",

SPECIFICATION DRAWING
SCALE 

SIZE

CAD   FILENAME:

DWG.  
NO. 560000000 REV.

DATEDRAWN CHECKED

UNLESS  OTHERWISE  SPECIFIED
DIMENSION ARE IN INCHES.
TOLERANCES ARE:

       TOL.    =  0° 30'
       .XX TOL.   =  ±.010
      .XXX TOL.  =  ±.005

MATERIAL:

FINISH:

REVISION HISTORY
DESCRIPTION DATE & CHGD BY APPROVED

Curtis Industries
A Div. of Powers Holdings, Inc.

2400 South 43rd Street
Milwaukee, WI, 53219
Phone: (414) 649-4200

NOT TOBE SHARED WITH THIRD PARTIES WITHOUT
WRITTEN PERMISSION FROM CURTIS INDUSTRIESCONFIDENTIAL- PROPRIETARY  TO CURTIS INDUSTRIES

NONE
SHT 1 
OF 2

TITLE

PREVIOUS P/N:

REV.
- RELEASED 12/14/05  LAW

SPECIAL INSTRUCTIONS

L

12/14/05LAW

560000000 RevL D.slddrw
NONE

N/A

N/A

SEE B.O.M. AND SELECTION MATRIX D

R

56 X X X XXXNOTES:
1. BLOCKS CALLING FOR FEATURES NOT DESCRIBED 
    IN THIS DRAWING WILL HAVE A CUSTOM PART NUMBER 
    ASSIGNED BY ENGINEERING.  EACH CUSTOM PART
    NUMBER WILL BE DOCUMENTED VIA INDIVIDUAL
    ENGINEERING DRAWINGS.
2. REQUIREMENTS FOR MODIFIED MOLDINGS WILL 
    RESULT IN A CUSTOM PART NUMBER (INCLUDING 
    AN ALPHA CHARACTER IN THE LAST POSITION OF 
    THE PART NUMBER) TO BE ASSIGNED BY 
    ENGINEERING.
3. WITH QUICK CONNECT TABS, THE 6TH DIGIT IS A 6 
    AND WHEN USING ONE TAB, THE 9TH DIGIT IS A TAB 
    NUMBER.  EXAMPLE: 562006052 (SINGLE FLAT TAB) ALL POSITIONS.  
    PART NUMBERS FOR SPECIAL/UNIQUE TAB 
    CONFIGURATIONS WILL BE ASSIGNED BY ENGINEERING.
    USING WHITE INK, APPLY cUL STAMP, P/N 088888844, TO EACH END
    OF BLOCK FOR THE ASSEMBLIES THAT ARE UL AND cUL APPROVED.

X

MOLDING

SERIES

TERMINAL BAR
SCREW TYPE # OF POLES

SPECIAL OPTIONS

AVAILABLE
01-22 W/MTG ENDS
01-22 W/O MTG ENDS0 =  8-32 THREAD

TERM. BAR P/N 080124700, STL, ZN PLD
080121120, BRS, NI PLD

1 = 10-32 THREAD
TERM. BAR P/N 080125700, STL, ZN PLD

080122120, BRS, NI PLD

(DRIVE SCREW USED TO SECURE 
TERMINAL BAR, P/N 056201120. QTY. = 
# OF POLES)

PC BOARD DRILLING DIMENSIONS

K.PAGENKOPF

01/20/06  LAWA
KEP

ECN 6233, ADDED ASSY INSTRUCTIONS, SHEET 2
B ECN 6277, CHGD DIM IN TABLE A, ADDED TABLE TO SHT 2 06/28/06  LAW

KEP
KEP

10/04/06  LAWECN 6308, CHGD DIM IN TABLE A, ADDDED JUMPER P/NC
D ECN 6326, ADDED TERM. CON. TABLE; CHGD NOTES 02/07/07  LAW

KEP

D

ENGINEERING SPECIFICATIONS

D

CENTER TO CENTER SPACING: 9/16"
NUMBER OF TERMINALS: 1 THRU 22
VOLTAGE RATING: 600V MAX (SOME OPTIONS MAY BE RATED LOWER - CONSULT FACTORY)

HOUSING:
            MATERIAL: PHENOLIC
            CONTINUOUS USE TEMP: 150°C
            FLAMABILITY RATING: 94V-0
            WATER ABSORPTION (24 HRS % WEIGHT GAIN): 0.1%
            

D

D4

E 03/26/07  LAW
KEP

ECN 6362, CHGD SCREW TYPE OPTIONS
F 07/22/08  LAWECN 6612, UPDATED SCREW TYPE OPTION 5

LWL
LWL
LWL06/22/09  LAWECN 6768, UPDATED SCREW TYPE OPTION 5G

06/02/11  AJMH ECN 6862, UPDATED TERM. CON. TABLE, CHGD NOTES LWL
J LWLECN 7173, UPDATED BOM AND NOTE 4 01/03/13  AJM

H J

ECN 7935, UPDATED/REMOVED TABS, UPDATED NOTESK 11/15/21  JPC CJD
ECN 7946, UPDATED/REMOVED TABS, UPDATED NOTES 03/08/22  JPC CJDL



4
4

C

C

B

B

4

SECTION C-C

2

D D

VIEW WITH OPTIONAL JUMPER

SECTION D-D

7

E E

VIEW WITH OPTIONAL TABS
(ARRANGEMENT WILL VARY)

C

DJ

JJ

SECTION E-E

6

B

B

4

D

SECTION B-B

NOTES:
(DELETED)
  

6.    DRAWING VIEWS ON THIS SHEET ARE REPRESENTATIONAL
FOR ASSEMBLY INSTRUCTION.  SCREWS AND OPTIONAL ITEMS 
VARY.  USING PART NUMBER PROVIDED, REFER TO SELECTION 
MATRIX ON SHEET 1 FOR SPECIFIC STYLES, PART NUMBERS, AND 
CONFIGURATIONS.

5

1 088888844 RUBBER STAMP, cUL, 9/16" TERMINAL BLOCKS 8

A/R
068103200

JUMPER (OPTIONAL) 7
068104100

A/R SEE MATRIX
SHEET 1 TABS (OPTIONAL, SEE SELECTION MATRIX, SHEET 1) 6

(DELETED) (DELETED) (DELETED) 5

# OF POLES x 2 SEE MATRIX
SHEET 1 SCREW (SEE SELECTION MATRIX, SHEET 1) 4

# OF POLES 056201120 DRIVE SCREW, #0, STL, NI PLD 3

# OF POLES SEE MATRIX
SHEET 1 TERMINAL BAR, 9/16, 8-32 THREAD 2

1 SEE TABLE B
ABOVE MOLDING, 9/16" DOUBLE ROW 1

QTY. PART NO. DESCRIPTION ITEM

TABLE B

NO. OF 
POLES

WITH MTG 
ENDS

WITHOUT 
MTG ENDS

1 077403000 077401009
2 077404000 077402009
3 077405000 077403009
4 077406000 077404009
5 077407000 077405009
6 077408000 077406009
7 077409000 077407009
8 077410000 077408009
9 077411000 077409009
10 077412000 077410009
11 077413000 077411009
12 077414000 077412009
13 077415000 077413009
14 077416000 077414009
15 077417000 077415009
16 077418000 077416009
17 077419000 077417009
18 077420000 077418009
19 077421000 077419009
20 077422000 077420009
21 077423000 077421009
22 077424000 077422009

SCALE 

SIZE
CAD FILENAME:

DWG.  
NO.D

SHT 2 
OF 2

REV.

DATEDRAWN

CONFIDENTIAL - PROPRIETARY TO CURTIS INDUSTRIES

FOR TOLERANCE AND CHANGE INFORMATION
SEE SHEET 1

CHECKED

NOT TO BE SHARED WITH THIRD PARTY WITHOUT
WRITTEN PERMISSION FROM CURTIS INDUSTRIES

560000000 RevL D.slddrw

560000000 L

01/20/06LAW2:1 K.PAGENKOPF


	Sheet1
	Drawing View23
	Drawing View24
	Drawing View61
	Drawing View62
	Drawing View66
	Drawing View67
	Drawing View68
	Drawing View69
	Drawing View70
	Drawing View71
	Drawing View75
	Drawing View76
	Drawing View77
	Drawing View78
	Drawing View79
	Drawing View80
	Drawing View87
	Drawing View88
	Drawing View89
	Drawing View90
	Drawing View91
	Drawing View92
	Drawing View93
	Drawing View94
	Drawing View115

	Sheet2
	Drawing View105
	Drawing View106
	Section View C-C
	Drawing View111
	Section View D-D
	Drawing View113
	Section View E-E
	Section View B-B


